=50t
olglglo] A
IR0 LHalg) 2l)
SN BB BRI(E) - HIRAY - B Gl 2
NESSPINT 252,837 201,187 51,650
siotelge] AAE X2l 139,287 137,737 1,550
SPIEEENTRNE 139,287 137,737 1,550
IR RI5{ 0} 66,400 66,350 50
201 Lt 47,400 48,350 A950
CEE] 47,400 48,350 A950
CERESHBAAY A B 15,000
SBYA TAIHEAKE (HI2D) 2G4 10,000
SYA S22A2/49/5 294+Y
100,000 x5 43| 2,000
CAHEHER HAEH SRS 18,000
IHL S, =X 2 =Y ¥ orNEt
200,0008! %122 2,400
202 OfH| 19,000 18,000 1,000
01 20 19,000 18,000 1,000
pEIEE S == WETIE-SIO Ll 19,000
AE5IH L AR 64,887 62,887 2,000
201 Yt 64,887 62,887 2,000
01 At22tel 64,887 62,887 2,000
SISl BN JHAID) &
AHRS0l BE 64,887
-HEG (1~2271)
107,8052%2503] 26,952
-Abg S0l 179,67521%2003] 35,935
a=re) 9 OHN 5}
200,0002%102 2,000
EEWREECTE 6,000 6,000
201 Yt 6,000 6,000 0
01 AlR2t2| 6,000 6,000 0
SHAl ASAE 294Y
50,0005 %243 6,000
Z201F 2l 1,000 1,000
201 YreA 1,000 1,000
01 At22tel 1,000 1,000 0
IpeAES
1,00024*1,0000H 1,000
A=4D 1,000 1,500 A500
201 LBt Y| 1,000 1,500 A500
01 AlR2t2|H| 1,000 1,500 A500
IHQIGHE oHp 1,000
HH2HHH|(AIS50H) 113,550 63,450 50, 100
DIEET 113,550 63,450 50,100
DIEEET] 113,550 63,450 50,100
201 Lty 49,950 44,850 5,100




SN AEGOH
A AHYRHZHI(ASEIH)
SRl =2 (Cro: ®ol)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 Al 22| 33,950 32,850 1,100
=] 25,850
EEiE 8,100
02 S3=4H| 16,000 12,000 4,000
52 & MM 16,000
202 04| 14,400 14,400 0
01 =LHOHI 14,400 14,400
A= ol0F, AIES 0l
1,200,000 122 14,400
203 ER=&IH| 4,200 4,200
04 ENESSHR=LH 4,200 4,200 0
I 2% Yoz 350,000 12! 4,200
405 AHAHFSHI 45,000 0 45,000
01 ML =ZFSHI 45,000 45,000
HRE It 78 45,000




